SAMPLE TEST 4
Choose the word (A, B, C, D) whose underlined part is pronounced differently from the others. (0.5 point)
Question 1: 	A. coughs		B. sings		C. stops		D. sleeps
Question 2:  	A. comprise		B. listen		C. visit			D. notice 
Choose the word (A, B, C, D) whose main stress is placed differently from that of the others. (0.5 point)
Question 3: 	A. divide		B. consist		C. visit			D. depend
Question 4: 	A. Internet		B. advantage		C. pesticide		D. practical
Choose the word/phrase (A, B, C, D) that best fits the space in each sentence. (2.5 points)
Question 5: __________ many books __________at the book shop last night?
		A. Was/ bought	B. Did/ buy		C. Were / bought	D. Was/ buying 
Question 6: I wish I ___________his name.
A. knew 		B. know		C. will know 		D. would know	
Question 7: Let’s   ________ to the cinema.
A. going    		B. to go         		C. go         		D. goes
Question 8: Millions of Christmas cards ________last month.
		A. were sent 		B. sent       		C. send       		D. are sent 
Question 9: How long _______you _______for me?  - For an hour.
A. did / wait     	B. have / waited 	C. do / wait 		D. did / waited 
Question 10: We live at ____________ third floor from the church.
		A. the			B. a			C. an			D. No article
Question 11: He arrived in England ________Monday evening.
A. in			B. at                		C. of           		D. on
Question 12: Mom always _____ us to discuss our problems.
 		A. encourage 		B. encouragement 	C. encouraging 	D. encouraged 
Question 13: His grandfather ________ last year.
		A. passed away	B. turn on		C. turn down 		D. look after
Question 14: The course is _______for children in this country.
   		A. religious		B. option		C. adding	       	D. compulsory
Choose the most suitable response to complete each of the following exchanges. (0.5 point)
Question 15: “I think we should go to Seattle School of English?”  - “__________________”
		A. That’s right. I am.				B. I don’t understand.
		C. Thank you very much.			D. I agree with you.
Question 16:  Would you like to visit me next summer? 	 -   _________________	
A. So do I		B. thank you		C. Never mind		D. Yes. I’d love to
Read the following passage and choose the letter (A, B, C, D) to indicate the correct word or phrase that best fits each of the numbered blanks. (1.0 point) 
Britain is now a highly industrialized country and there are only 238,000 farms in the UK. More and more farmers leave the land (17) _______ they cannot earn enough money to survive. Only large farms are economic and because of this most British farm are big. They usually grow cereals in the east of England and raise sheep and cows in the north (18) ______ England and Scotland. The small family farms often have to (19) ______ more money by offering bed and breakfast accommodation to tourists. 
	Farming methods in Britain have also changed. Fields used to be quite small, divided by hedges which were sometimes a thousand years old and full of wild flowers and birds. Many hedges were pulled up to allow (20________ to use modern machinery. Now most fields in England are large by European standards. 

Question 17. A. because 		 B. so			C. but			D. although
Question 18. A. in			B. on			C. of			D. at
Question 19. A. earning		 B. to earn		C. to earning		D. earn
Question 20. A. farmers       		B. farm		C. farming		D. farms

Read the following passage and choose the best answer to each of the following questions (1.0 point)
	Unlike life in the countryside, which is often considered to be simple and traditional, life in cities is modern and complicated. People, from different regions, move to cities to seek a better life for them and their children. The inhabitants in cities work as secretaries, businessmen, teachers, government employees, factory workers and even street vendors or construction workers.
	The high cost of living requires city dwellers, especially those with low incomes, to work harder or to take part-time jobs. For many people, an ordinary day starts as usual by getting up in the early morning to do exercise in public parks, preparing for a full day of work and study, then travelling along boulevards or narrow streets filled with motorists and returning home after a busy day. They usually live in large houses, or high-rise apartment blocks or even in small rented rooms equipped with modern facilities, like the Internet, telephones, televisions, and so on. Industrialization and modernization as well as global integration have big impacts on the lifestyle in cities. The most noticeable impact is the Western style of clothing. The “ao dai” – Vietnamese women’s traditional dresses are no longer worn in their daily life. Instead, jeans, T-shirts and fashionable clothes are widely preferred.
Question 21:	The most important reason why people move to cities is  ___________
A. to look for a complicated life		B. to take part-time jobs
		C. to have busy days				D. to look for a better life
Question 22:	According to the passage, the city life can offer city dwellers all of the following things EXCEPT ___________
		A. the Internet					B. friendly communication with neighbors
		C. a variety of jobs in different fields		D. modern facilities
Question 23:	Industrialization and modernization may lead to __________
		A. the fact that women no longer wear ao dai
		B. the disappearance of Western-styled clothing
		C. some changes in lifestyle
		D. global integration
Question 24:	The word “impacts” in paragraph 2 is closest in meaning to __________
		A. force		B. action			C. situation			D. effect
Choose the underlined part (A, B, C, D) that needs correcting. (1.0 point)
Question 25: Boys often enjoy doing things in a creativity way.
	A	B        	C          D
Question 26:  Children love playing in the mud, run through paddles and getting very dirty.
	A	B                   C                	D
Question 27: He asked me whether I know that man over there.
	                                      A           B      C                 D
Question 28: The boy laughed happy as he played with the teddy bear.
		    A	         	      B		 C		    D
Complete the sentence so that it has a similar meaning to the original one. (2.0 points)
Question 29: I’m sorry that I can’t go to the party tonight.
 I wish______________________________________________
Question 30: Living in this house is convenient. 
 It’s _______________________________________________
Question 31:  The last time I talked to her was two months ago.
 I haven’t ___________________________________________
Question 32: “I don’t go to the party tonight.” She said.
 She said that ________________________________________
Combine the two sentences with the given word(s) in brackets. (1.0 point)
Question 33: They will go to Spain on holiday. They like hot weather.  (If)
_______________________________________________________
Question 34: She is tall, so she plays volleyball very well. (Because)
___________________________________-___________________

- The end –

ANSWER KEY SAMPLE TEST 4
Choose the word (A, B, C, D) whose underlined part is pronounced differently from the others. (0.5 point)
Question 1: 	A. coughs		B. sings		C. stops		D. sleeps
Question 2:  	A. comprise		B. listen		C. visit			D. notice 
Choose the word (A, B, C, D) whose main stress is placed differently from that of the others. (0.5 point)
Question 3: 	A. divide		B. consist		C. visit			D. depend
Question 4: 	A. Internet		B. advantage		C. pesticide		D. practical
Choose the word/phrase (A, B, C, D) that best fits the space in each sentence. (2.5 points)
Question 5: __________ many books __________at the book shop last night?
		A. Was/ bought	B. Did/ buy		C. Were / bought	D. Was/ buying 
Question 6: I wish I ___________his name.
A. knew 		B. know		C. will know 		D. would know	
Question 7: Let’s   ________ to the cinema.
A. going    		B. to go         		C. go         		D. goes
Question 8: Millions of Christmas cards ________last month.
		A. were sent 		B. sent       		C. send       		D. are sent 
Question 9: How long _______you _______for me?  - For an hour.
A. did / wait     	B. have / waited 	C. do / wait 		D. did / waited 
Question 10: We live at ____________ third floor from the church.
		A. the			B. a			C. an			D. No article
Question 11: He arrived in England ________Monday evening.
A. in			B. at                		C. of           		D. on
Question 12: Mom always _____ us to discuss our problems.
 		A. encourage 		B. encouragement 	C. encouraging 	D. encouraged 
Question 13: His grandfather ________ last year.
		A. passed away	B. turn on		C. turn down 		D. look after
Question 14: The course is _______for children in this country.
   		A. religious		B. option		C. adding	       	D. compulsory
Choose the most suitable response to complete each of the following exchanges. (0.5 point)
Question 15: “I think we should go to Seattle School of English?”  - “__________________”
		A. That’s right. I am.				B. I don’t understand.
		C. Thank you very much.			D. I agree with you.
Question 16:  Would you like to visit me next summer? 	 -   . . . . . . . . . . 			
A. So do I		B. thank you		C. Never mind		D. Yes. I’d love to
Read the following passage and choose the letter (A, B, C, D) to indicate the correct word or phrase that best fits each of the numbered blanks. (1.0 point) 
Britain is now a highly industrialized country and there are only 238,000 farms in the UK. More and more farmers leave the land (17) _______ they cannot earn enough money to survive. Only large farms are economic and because of this most British farm are big. They usually grow cereals in the east of England and raise sheep and cows in the north (18) ______ England and Scotland. The small family farms often have to (19) ______ more money by offering bed and breakfast accommodation to tourists. 
	Farming methods in Britain have also changed. Fields used to be quite small, divided by hedges which were sometimes a thousand years old and full of wild flowers and birds. Many hedges were pulled up to allow (20________ to use modern machinery. Now most fields in England are large by European standards. 

Question 17. A. because 		 B. so			C. but			D. although
Question 18. A. in			B. on			C. of			D. at
Question 19. A. earning		 B. to earn		C. to earning		D. earn
Question 20. A. farmers       		B. farm		C. farming		D. farms

Read the following passage and choose the best answer to each of the following questions (1.0 point)
	Unlike life in the countryside, which is often considered to be simple and traditional, life in cities is modern and complicated. People, from different regions, move to cities to seek a better life for them and their children. The inhabitants in cities work as secretaries, businessmen, teachers, government employees, factory workers and even street vendors or construction workers.
	The high cost of living requires city dwellers, especially those with low incomes, to work harder or to take part-time jobs. For many people, an ordinary day starts as usual by getting up in the early morning to do exercise in public parks, preparing for a full day of work and study, then travelling along boulevards or narrow streets filled with motorists and returning home after a busy day. They usually live in large houses, or high-rise apartment blocks or even in small rented rooms equipped with modern facilities, like the Internet, telephones, televisions, and so on. Industrialization and modernization as well as global integration have big impacts on the lifestyle in cities. The most noticeable impact is the Western style of clothing. The “ao dai” – Vietnamese women’s traditional dresses are no longer worn in their daily life. Instead, jeans, T-shirts and fashionable clothes are widely preferred.
Question 21:	The most important reason why people move to cities is  ___________
A. to look for a complicated life		B. to take part-time jobs
		C. to have busy days				D. to look for a better life
Question 22:	According to the passage, the city life can offer city dwellers all of the following things EXCEPT ___________
		A. the Internet					B. friendly communication with neighbors
		C. a variety of jobs in different fields		D. modern facilities
Question 23:	Industrialization and modernization may lead to __________
		A. the fact that women no longer wear ao dai
		B. the disappearance of Western-styled clothing
		C. some changes in lifestyle
		D. global integration
Question 24:	The word “impacts” in paragraph 2 is closest in meaning to __________
		A. force		B. action			C. situation			D. effects
Choose the underlined part (A, B, C, D) that needs correcting. (1.0 point)
Question 25: Boys often enjoy doing things in a creativity way.
	A	B        	C          D
Question 26:  Children love playing in the mud, run through paddles and getting very dirty.
	A	B                   C                	D
Question 27: He asked me whether I know that man over there.
	                                      A           B      C                 D
Question 28: The boy laughed happy as he played with the teddy bear.
		    A	         	      B		 C		    D
Complete the sentence so that it has a similar meaning to the original one. (2.0 points)
Question 29: I’m sorry that I can’t go to the party tonight.
 I wish I could go to the party tonight. 
Question 30: Living in this house is convenient. 
 It’s convenient to live in this house. 
Question 31:  The last time I talked to her was two months ago.
 I haven’t talked to her for two months. 
Question 32: “I don’t go to the party tonight.” She said.
 She said that she didn’t go to the party that night.
Combine the two sentences with the given word(s) in brackets. (1.0 point)
Question 33: They will go to Spain on holiday. They like hot weather.  (If)
They will go to Spain on holiday if they like hot weather.  
If they like hot weather, they will go to Spain on holiday.
Question 34: She is tall, so she plays volleyball very well. (Because)
Because she is tall, she plays volleyball very well.
She plays volleyball very well because she is tall.
- The end –
                                                                                                                                                   
